
TAMIL 

CHILD DEVELOPMENT – PAPER I – SET 1-PART-I  

1. ‘Self concept’ the stepping stone of social development starts at this 
 stage 

1. Pubescent 

2. Late Childhood 

3. Early Childhood 

4. Early Adolescence 

 ΜØΘôΥ ΞΖνε′♠τ ØΘοΣ⁄♣ûΩΥô∴ !ÑΥχΚÚιÕ& ùΘôΟδÏλ 
ΣÚΞλ  

 1. ΣÚΞ Øƒνε′ ♣ûΩ 

 2. ♦τ ÏΨϕûΘκ ΣÚΞλ 

 3. Øτ ÏΨϕûΘκ ΣÚΞλ 

 4. Øτ ÏΤςκ ΣÚΞλ 

2. In the beginning children use their hand totally to hold the things. 
 Later they are able to manage to hold the things with their fingers- 
 Developmental principle involved here is, 

1. Development proceeds from general to specific  
2. Development follows uniformity of pattern 
3. Development proceeds continuously 
4. Different developments proceed with mutual relations 

 ÏΨϕûΘΚρ ùΣôÚûΖ ♦⁄ιÕχùΚôρΖ ØΘ←ο ûΚ 
ØÝΞûΘÙλ ΣΥτΣÓιÕΞν+ ♦τ∴ν ΘδΚÞûΟΥ ↑ςοΚΖôο 
ùΣôÚûΖ ♦⁄ιÕχùΚôρΞν− Βƒο ≅Οδ€ÙρΖ ΞΖνε′ ↑ƒ 

 1. ùΣôÕΞô∴ƒ←ÚϕÕ ′[κ× . Ï°κ♦γΟ ♣ûΩχÏ  
  Øτú∴ßλ ↑ƒ 

 2. ≠ςô∴ Ξ⁄Ξ ↑ƒ  

 3. ùΘôΟνε′ ↑ƒ 

 4. ∆γùΘôΟν× ↑ƒ 



3. Child changes the environment according to his convenience. The 

 cognitive process is 

1. Organization 

2. Assimilation 

3. Accommodation 

4. Equilibrium 

 ÏΨϕûΘ Ñσßκ×[ιûΘ Θ∴χúΚσ[Ξôß Τôσ°χùΚôρΞÕ  

 1. ≅ûΤιΘο  

 2. ùΘôÏιΘο 

 3. ΘΚΞûΤκ× 

 4. ΜΤ♣ûΩ 

 

4. The following type of Classification of Intelligence Tests is basing 

on time of answering 

1. Individual – Group tests 

2. Verbal – Non verbal tests 

3. Power – speed tests 

4. Paper pencil – performance tests 

 •θχΚηΟΞσ°ο Ιτß úΡςιûΘ ≅⁄κΣûΟΥôΚ ùΚôηΟ 
ÖηΠ°Ü úΜôΘû∴Κρ ΞûΚ  

 1. Θ±Υôρ , ÏÝιúΘνÜΚρ  

 2. ùΜôο , ùΜôο Μôςôι úΘνÜΚρ 

 3. Ασ[ο , úΞΚιúΘνÜΚρ 

 4. Κô€Θ ùΣτ′ο , ùΜΥοƒ[τ úΘνÜΚρ 

 

 



5. A child is unable to mingle with his classmates because of his 
 high shyness – The boy’s problem is 

1. Physical problem 

2. Physical disorder 

3. Mental disorder 

4. Behavioural problem 

 ΙÚ ΤôΠΞτ ≅ΖÜχΚƒΚΤô∴ ùΞγΚλ ΚôςΠΤôΚ Θτ ΞÏκ× 
ΤôΠΞνΚÞΟτ ΒûΠΥ Ø⁄ΥôΤο úΣô€[ôτ− 
≅λΤôΠΞ±τ ♦ςε′û∴ 

 1. ∆ΟοΜôν ♦ςε′û∴ 

 2. ∆Οο ≠νúΚÓ 

 3. Τ∴ε ≠νúΚÓ 

 4. ΡΟιûΘ ♦ςε′û∴ 

 

6. The emotion which appears first in children is 
1. Fear 

2. Excitement 

3. Anger 

4. Jealousy  

 ÏΨϕûΘΚ↓Ολ ØΘ←ο ΓσΣÓλ Τ∴ùΞÝε′ 

 1. ΣΥλ 

 2. €Ζνε′ 

 3. úΚôΣλ 

 4. ùΣô[ôûΤ 

  



7. Teacher playing along with children observes their behavior during 

the play is called 

1. Participant observation 

2. Controlled observation 

3. Non-participant observation  

4. Introspection 

 ÏΨϕûΘΚρ ↑ûΖΥôÓλ úΣôÕ ≅ΞνΚÞΟτ úΜνϕÕ 
↑ûΖΥô⁄χùΚôηúΟ Α′↔Υν ≅ΞνΚ↓τ ΡΟιûΘûΥ 
∆σßúΡôχÏΞûΘ ΒπΞôß ≅ûΨκΣν− 

 1. ΣδÏùΣσß ∆σßúΡôχÏΘο 

 2. ΚγÓκΣÓιΘκΣγΟ ∆σßúΡôχΚο 

 3. ΣδÏ ùΣ[ôΤο ∆σßúΡôχΚο 

 4. ≅Κ úΡôχÏ 

 
8. The self concept  developed in children through interpersonal 
 relations and reading books, stories, novels etc is, 

1. Ideal self concept 

2. Real self concept 

3. Universal self concept 

4. Acquired self concept 

 Τσ[ΞνΚÞΟτ ùΘôΟν×ùΚôρÞΘο+ èοΚρ+ ΚûΘΚρ+ 
×ƒ∴δΚρ Α€ΥΞσû[ Σ⁄ιΘο Ξô♠ΩôΚ ΤôΠΞνΚ↓ûΟúΥ 
ΞΖνχΚκΣÓλ ÑΥχ ΚÚιÕ 

 1. ΒΩγ′Υ ÑΥΚÚιÕ 

 2. ∆ηûΤ ÑΥΚÚιÕ 

 3. ùΣôÕΞô∴ ÑΥΚÚιÕ 

 4. ùΣσßχùΚôηΟ ÑΥΚÚιÕ 



9. A boy with equal interest in Mathematics and  Science passed class 
X. Now he has to choose either M.P.C. or Bi.P.C. The conflict here 
is 

1. Approach - Avoidance 

2. Avoidance – Avoidance  

3. Dual Approach - Avoidance 

4. Approach - Approach 

 Κ∞Θλ+ ≅°↑Υο ΣôΟδΚ↓ο Ιúς↑ΘΤô∴ ΑνΞλ ùΚôηΟ 

ΤôΠΞτ  0/Αλ ΞÏκ♦ο úΘνε′ ùΣσ[ôτ− ≅Ξτ M.P.C. 

≅οΩÕ Bi.P.C. ♠ο ΓúΘàλ Ιτû[ úΘνϕùΘÓκΣƒο ≅Ξτ 
ΦƒνùΚôρΖκΣÓλ úΣôςôγΟλ 

1. ≅ÔÏΘο,↑ΩÏΘο 

 2. ↑ΩÏΘο,↑ΩÏΘο 

 3. ΒςγûΟ ≅ÔÏΘο,↑ΩÏΘο  

 4. ≅ÔÏΘο,≅ÔÏΘο 

10. The faculty that is present in every person according to  
 Noam Chomsky 

1. Universal Learning Faculty 

2. Universal Language Faculty 

3. Universal Scientific Faculty 

4. Universal  Socialistic Faculty 

 úΡôλ Μôλυ€ ΚÚιÕκΣ⁄ ΙπùΞôÚ Τ±Θ±Ûλ ΚôΠκΣÓλ 
♦↔Ü 

 1. ùΣôÕΞô∴ Κσ[ο ♦↔Ü 

 2. ùΣôÕΞô∴ ùΤô→κ ♦↔Ü 

 3. ùΣôÕΞô∴ ≅°↑Υο ♦↔Ü 

 4. ùΣôÕΞô∴ ΜØΘôΥκ ♦↔Ü 

  



11. The Defense mechanism adopted by Sagar by hitting hard his bat on 
 the pitch as he got out for the very first ball in a cricket match. 

1. Projection 

2. Displacement 

3. Withdrawal 

4. Regression 

 €↔χùΚγ ↑ûΖΥôγ⁄ο ØΘο ΣϕƒσúΚ ≅ÜγΟô∴ ΜôΚν 
úΚôΣιÕΟτ  Θτ  ΤγûΟûΥ  ΣΩΤôΚ  ΑÓΚΖιƒτ  ÁÕ  
≅⁄κΣƒο ≅ûΤϕÕρΖ ΘσΚôκ× ΡΟιûΘ 

 1. ΓσßΘο 

 2. ΒΟΤôσ[λ 

 3. ♦τΞôδÏΘο 

 4. ♦τú∴ôχΚλ 

12. The virtue called ‘Reliability’ is to be achieved by the person in this 
psycho social critical situation  
  
1. Autonomy vs  Doubt 

2. Integrity vs Despair  

3. Inituitive vs Guilt 

4. Role Identify vs Role Confusion 

 Τ±Θ±ο ΡλΣΚιΘτûΤ Φτàλ ΡσÏΠλ ≅ûΟΞΘσÏ 
∆Ζλ ΜôνϕΘ ΜØΚ ′χΚΩô∴ ãθ♣ûΩ 

 1. Θτ±εûΜ vs ΗΥλ 

 2. ΙÚδ€ûΠÜ vs ΓΤôσ[λ 

 3. ùΘôΟδÏΘο vs Ïσ[λ 

 4. ≅ûΟΥôΖλ ΚôÔΘο vs ≅ûΟΥôΖλ ΚôÔΘ←ο  
  ÏΨκΣλ 

 

 



13. One of the following is not a characteristic of Learning 
1. Learning is purposeful 

2. Learning is a product and not process 

3. Learning is goal oriented 

4. Learning is universal 

 •θχΚηΟΞσ°ο Κσ[ο Ση× ≅οΩôΘÕ 

 1. Κσ[ο ΦτΣÕ úΡôχΚ ≅⁄κΣûΟ♠Ωô∴Õ 

 2. Κσ[ο ΦτΣÕ ΙÚ ↑ûΖÜ+ ùΜΥοØû[ ≅οΩ 

 3. Κσ[ο ΦτΣÕ ΒΩχûΚ ûΤΥΤôΚχ ùΚôηΟÕ 

 4. Κσ[ο ΦτΣÕ ≅û∴ΞÚχÏλ ùΣôÕΞô∴Õ 

 
14. One of the following is not a physiological need 

1. Maternal drive 

2. Sleep 

3. Love 

4. Water 

 •θχΚηΟΞσ°ο ∆Οο ΜôνϕΘ úΘûΞ ≅οΩôΘÕ 

 1. ΘôµΞ→ ΕχΚκΣÓιÕΘο 

 2. çχΚλ  

 3. ≅τ× 

 4. ¿ν 

 
  



15. Suma is scared of a teacher in her school as he punished her 
severely. But she is not scared of other teachers. This is an example 
for  
1. Stimulus generalization 

2. Stimulus discrimination 

3. Spontaneous recovery 

4. Extinction 

 ÑΤô+ Θτ Σρ↓♠ο ϑν Α′↔Υν ↑ςΤôΚ Θη⁄ιΘΘôο 
≅Ξûςχ ΚηΟÜΟτ ΣΥκΣÓ€[ôρ− Α∴ôο ≅ΞÞχÏ Τσ[ 
Α′↔ΥνΚ↓Ολ ΣΥλ ΒοûΩ− ΒÕ ΒΘσÏ ΦÓιÕχΚôγÓ 

 1. çηΟο ùΣôÕûΤΥôχΚο 

 2. çηΟο úΞßΣÓιΘο 

 3. Σ⁄κΣ⁄Υô∴ Áγ′ 

 4. ≅σßκúΣôΘο 

 
16. According to Vygotsky, the following is a lower mental function. 

1. Questioning 

2. Synthesis 

3. Creative Thinking  

4. Analysis 

 ûΞúΚôγυ€♠τ ΚÚιÕκΣ⁄ •θ♣ûΩ Τ∴ε ùΜΥσΣôÓ 

 1. ↑∴ÜΘο 

 2. ùΘôÏιΘο 

 3. ƒ[∴ôµÜε ′ϕΘû∴ 

 4. ΣÏιΘôµÜ 

  



17. Bandura classified reinforcement into 3 types. This classification 
does not include 
1. Direct reinforcement 

2. Indirect alternative reinforcement 

3. Self reinforcement 

4. Continuous reinforcement 

 ΣϕÕςô+ ΞÛîγΟοΚûΖ êτß ΞûΚΥôΚ ΞûΚκΣÓιƒ∴ôν− 
ΒϕΘ ΞûΚκΣôÓ Βƒο ≅ΟδΚôÕ 

 1. úΡνØΚ ΞÛîγΟο 

 2. Τû[ØΚ Τôσß ΞÛîγΟο 

 3. ÑΥ ΞÛîγΟο 

 4. ùΘôΟνε′Υô∴ ΞÛîγΟορ 

 
18. Ganesh while preparing for examinations first learnt Philosophy and 

then Psychology. In the psychology examination he is able to recall 
Philosophy and unable to recall Psychology. This is due to  
1. Repression 

2. Proactive inhibition 

3. Retroactive inhibition 

4. Psychological trauma 

 ΚúΠΜτ úΘνÜχÏ ΘΥôςôÏλúΣôÕ ØΘ←ο ΘιÕΞ↑ΥûΩχ 
Κσß ♦τ∴ν ∆Ζ↑ΥûΩ Κσ[ôτ− ∆Ζ↑Υο úΘν↑ο 
≅Ξ∴ôο ΘιÕΞ↑ΥûΩ ♣û∴Üáς Ø⁄€[Õ− ∆Ζ↑ΥûΩ 
♣û∴Üáς Ø⁄Υ↑οûΩ− ΒΘσÏ ΚôςΠλ 

 1. ΡÑχÏΘο 

 2. ØτùΜΥο ΘûΟ♣ûΩ 

 3. ♦τùΜΥο ΘûΟ♣ûΩ 

 4. ∆Ζ↑Υο 



19. Rakesh learnt a list of 30 meaningless words in 20 trials. After  
2 months, he was asked to relearn the same list. This time he took  
12 trials to learn the list. His saving score is  

 ςôúΚω  2/  ùΣôÚρΘςôΘ  ùΜôσΚ↓τ  Σγ⁄ΥûΩ  1/  Øû[  
Σ⁄ιÕ ΚσßχùΚôηΟôτ− 1 ΤôΘιƒσÏ ♦[Ï ≅Ξû∴ ≅úΘ 
Σγ⁄ΥûΩ ƒÚλΣχ ΚσßχùΚôρÞλΣ⁄ áßλúΣôÕ ΒϕΘ Øû[ 
≅Ξτ ≅κΣγ⁄ΥûΩ 01 ØΥσ′Κ↓ο ΚσßχùΚôρ€[ôτ− 
≅ΞàûΟΥ úΜ♥κ× ÅΘλ 

1. 12% 

2. 40% 

3. 90% 

4. 30% 

 

20. The first step in the process of memory is  
1. Learning 

2. Retention 

3. Recall 

4. Recognition 

 ♣û∴Ü ùΜΥοØû[♠τ ØΘο Σ⁄♣ûΩ 

 1. Κσ[ο 

 2. Áρƒ[τ.Τ∴ιƒÚιΘο 

 3. ♣û∴Ü áνΘο.ÁγÓχ ùΚôΠνΘο 

 4. ≅ûΟΥôΖλ ΚôÔΘο.ÁγΟ°Θο 

  



21. One of the following is not related to affective domain 
1. Receiving 

2. Responding 

3. Valuing 

4. Synthesis 

 •θχΚηΟΞσ°ο ∆ΠνÜΜôν ΚΖιÕΟτ ùΘôΟν♦οΩôΘÕ 

 1. €ς€ιΘο 

 2. ÕΩδΚο 

 3. Τƒκ♦ÓΘο 

 4. ùΘôÏιΘο 

 

22. When a modifiable connection is formed between a situation and 
response, if other things being equal, that connection strengthens. 
This is  
1. Law of use 

2. Law of readiness 

3. Law of exercise 

4. Law of disuse 

 ΙÚ ãθ♣ûΩχÏλ ÕΩδΚÛχÏλ ΒûΟúΥ ΜôΘΚΤô∴ Øû[♠ο 
Τôσ°χùΚôρΞΘσÏ Γσ[ ùΘôΟν× ΓσΣγΟúΣôÕ+ ♦[ áßΚρ 
ΜΤΤôΚ ΒÚχÏλúΣôÕ+ ≅ιùΘôΟν× Ξ←ûΤΥûΟ€[Õ− ΒÕ  

 1. ΣΥτΣôγÓ ↑ƒ 

 2. ΑΥιΘ ↑ƒ 

 3. Σ♠σ′ ↑ƒ 

 4. ΣΥτΣÓιΘô ↑ƒ 

 

 



23. Dyslexia is this learning disability 
1. Attention Deficiency disorder 

2. Arithmetic disability  

3. Writing disability  

4. Reading disability 

 ⁄υùΩχ′Υô ΦτΣÕ ΒϕΘ Κσ[←τ Ïû[ΣôÓ 

 1. ΚΞ∴′Θ[ο Ïû[ΣôÓ 

 2. ΦηΚ∞Θχ Ïû[ΣôÓ 

 3. ΦÝÕΘο Ïû[ΣôÓ 

 4. Σ⁄ιΘο Ïû[ΣôÓ 

 
24. The subject information in an integrated project is  

1. Limited to one subject only 

2. Related to many subjects 

3. No relation with subject and information 

4. Subject and information are contrary to each other 

 ΙÚδ€ûΠϕΘ ùΜΥοƒγΟιƒο ΣôΟι ΘΚΞο ΦτΣÕ 

 1. ΙÚ ΣôΟιƒσÏ ΤγÓλ Ξςλ×χÏγΣγΟÕ 

 2. ≅ƒΚ ΣôΟδΚÞΟτ ùΘôΟν×ûΟΥÕ 

 3. ΘΚΞÛχÏλ ΣôΟιƒσÏλ ùΘôΟν♦οûΩ 

 4. ΣôΟδΚÞλ ΘΚΞοΚÞλ ΙτßχùΚôτß ØςΠô∴ûΞ 

 
  



25. The following statement is against to child centered teaching 
 method. 

1. Children are limited to answer the questions of the teachers 

2. Students learn through construction of knowledge 

3. Children share their thoughts with teachers and peer group 

4. Self learning takes place in children  

 •θχΚηΟΞσ°ο ÏΨϕûΘ ûΤΥχ Κσ♦ιΘο Øû[χÏ Φƒςô∴ 
Ξôχ€Υλ  

 1. Α′↔Υ↔τ ↑∴ôχΚÞχÏ ↑ûΟΥ↓κΣΘσÏ ΤγÓλ  
  ÏΨϕûΘΚρ Ξςλ×χÏγΣγ⁄ÚιΘο 

 2. ≅°Ü ∆ÚΞôχΚιƒτ Ξô♠ΩôΚ ΤôΠΞνΚρ Κσ€τ[∴ν 

 3. ÏΨϕûΘΚρ ΘδΚρ ΦηΠδΚûΖ ΘδΚÞûΟΥ 
 Α′↔Υν Τσßλ ΙκΣôν ÏÝ↑∴ÚΟτ Σ€νϕÕùΚôρΞ 

        4. ÏΨϕûΘΚ↓ûΟúΥ ÑΥχ Κσ[ο ΡûΟùΣßλ 

 
26. The main aspect in the teaching process in which Piaget and Bruner 

differs  
1. The relation between Teaching and Maturation 

2. The relation between Teaching and Motivation 

3. The relation between Teaching and Content 

4. The relation between Teaching and Evaluation 

 ♦Υôú⊥ Τσßλ ×ì∴↔τ Κσ♦ιΘο ùΜΥοØû[Κ↓ο 
ΤôßΣÓλ Øχ€Υχáß 

 1. ΣÚΞ Øƒνε′χÏλ Κσ♦ιΘÛχÏ♥ûΟúΥ ùΘôΟν× 

 2. Κσ♦ιΘÛχÏλ ΑΥιΘκΣÓιΘÛχÏ♥ûΟúΥ ùΘôΟν× 

 3. Κσ♦ιΘÛχÏλ ΣôΟκùΣôÚÞχÏ♥ûΟúΥ ùΘôΟν× 

 4. Κσ♦ιΘÛχÏλ ΤƒκÀγ⁄σÏ♥ûΟúΥ ùΘôΟν× 

  



27. The last step in Herbartian steps  
1. Presentation 

2. Preparation 

3. Application 

4. Recapitulation  

 ùνΣôνγ⁄τ Κσ♦ιΘο Σ⁄♣ûΩΚ↓ο ΒßƒΥô∴Õ 

 1. ΞΨδÏΘο 

 2. ΘΥô↔ιΘο 

 3. ΣΥτΣÓιÕΘο 

 4. ÑÚχΚΤôΚχ áßΘο 

 
28. According to Edgar Dale cone of experiences more concrete 

experience is 
1. Observing Hippopotamus in the museum 

2. Observing Hippopotamus in the zoo 

3. Dramatizing Hippopotamus 

4. Observing Hippopotamus picture in the magazine 

 ΦγΚνúΟ←τ ≅àΣΞχáλ♦τΣ⁄ ≅ƒΚ ùΣôÚγΜôν ≅àΣΞλ  

 1. ≅ÚδΚôγ′ΥΚιƒο ¿νΥôû∴ûΥ ∆σßúΡôχÏΘο 

 2. ↑ΩδÏΚôγ′ΥΚιƒο ¿νΥôû∴ûΥ ∆σßúΡôχÏΘο 

 3. ¿νΥôû∴ûΥκ úΣôο Ρ⁄ιÕχ ΚôγÓΘο 

 4. Σιƒ↔ûΚ♠ο ¿νΥôû∴ ΣΟιûΘ ∆σßúΡôχÏΘο 

  



29. First action in counseling process. 
1. Taking information from counselee 

2. Establishing rapport with counselee  

3. Giving suggestions to counselee 

4. Suggesting solution to the problem of the counselee 

 ≅°ÜßιΘο ùΜΥοØû[♠ο ØΘο ùΜΥο 

 1. ≅°Üûς ùΣßΣΞ↔Ο♥ÚϕÕ ΘΚΞûΩ úΜΚ↔ιΘο 

 2. ≅°Üûς ùΣßΣΞÚΟτ ΣςυΣς ùΘôΟν×   
  ΓσΣÓιƒχùΚôρÞΘο 

 3. ≅°Üûς ùΣßΣΞÚχÏ ≅°ÜûςΚûΖ ΞΨδÏΘο 

 4. ≅°Üûς ùΣßΣΞ↔τ ♦ςε′û∴χÏ νÜ áßΘο 

 

30. The prime aspect of National Curriculum Frame Work 2005 
1. Transfer of information  

2. Completion of Syllabus 

3. Construction of Knowledge 

4. Recitation 

 úΘ′Υ ΚûΩιƒγΟ Ξ⁄ΞûΤκ× , 1//4τ ØΘτûΤΥô∴ 
≅λΜλ  

 1. ΘΚΞο Τôσ[λ 

 2. ΣôΟδΚûΖ Ø⁄ιΘο 

 3. ≅°Ü ∆ÚΞôχΚλ 

 4. Τ∴κΣôΟΤôΚ Ικ×↑ιΘο 

 

 

 

 

 



TAMIL –PART-II 

•θχΚôÔλ ΣôΟûΩ Σ⁄ιÕ 20+ 21 ↑∴ôχΚÞχÏ ↑ûΟΥ↓. 

ùΣηÔχÏ Νô∴ιûΘ ûΞιΘôτ , ×↑ 

úΣ∞ ΞΖνιƒÓλ ΧΜτ 

ΤηÔχÏρúΖ ′ΩêΟν , ΡοΩ 

ΤôΘ ς°ûΞχ ùΚÓιΘôν− 

31. ×↑ Φàλ ùΣôÚρΘÚλ ΒÚ ùΜôσΚρ 

 1. ∆ΩΚλ+ ×Π↔   

 2. Θς∞+ ΝôΩλ 

 3. Σôν+ ΣΚΩΞτ 

 4. ûΞΥΚλ+ ΒϕÕ 

32. ΤôΘς°Ü ΒεùΜôοûΩκ ♦↔ιÕχΚôη−  

 1. ΤôÕ ∗ ≅°Ü 

 2. Τô ∗ ≅°Ü 

 3. ΤôΘν ∗ ≅°Ü 

 4. ΤôΘ↑ ∗ ≅°Ü 

  



•θχΚôÔλ ∆ûςΡûΟûΥκ Σ⁄ιÕ 22+ 23 ↑∴ôχΚÞχÏ ↑ûΟΥ↓− 

≅ϕΘχ  ÏÓλΣιƒο  ΞßûΤ  ãθϕƒÚϕΘÕ−  ΤΚû∴  

Σ⁄χΚûΞχΚχáΟ Ξ→♠οΩôΤο ùΣσú[ôν ƒηΟô⁄∴ν− Θô♠τ 

úΞηÓúΚô↓τΣ⁄ ≅ÛΞΩΚλ Ιτ°ο úΞûΩχÏε úΜνϕΘôτ ΤΚτ− 

Α∴ôο ≅ϕΘ úΞûΩ♠ο ΧÓΣΟ ≅Ξτ Τ∴λ ΙκΣ↑οûΩ− 

Θτ ΘôµχÏ ΦÝƒΥ Κ⁄Θιƒο ≅λΤô ΡΤχÏχ €ûΟιƒÚκΣÕ 

Ιúς  ΙÚ  ΞôθχûΚ−  ≅ϕΘ  ΞôθχûΚûΥ  ≅ÛΞΩΚκ  ûΣΥ∴ôΚúΞ  

Κ→ιÕ↑Ο ↑ÚλΣ↑οûΩ− Φ∴úΞ ΒϕΘ úΞûΩûΥ 

↑γÓ↑ΟκúΣô€ú[τ Φτß ΦÝƒ∴ôτ− 

♦τ∴ν  ≅Ξτ  ↑Οô  ØΥσ′ÙΟτ  úΞß  úΞûΩúΘ⁄  ΣΩ  

ΒΟδΚÞχÏ ùΜτ[ôτ− úΘôο↑ûΥχ ΚηÓ ÕΞΖ↑οûΩ− ≅ΞàχÏ 

ΒΩχ€Υιƒο ùΚôφΜλ ΑνΞλ ΒÚϕΘÕ− ΚûΘΚρ ΦÝƒ∴ôτ− ΡôΟΚ 

Α′↔Υ∴ôΚ ∆ΥνϕΘôτ− úΡôΣο Σ↔Ñ ≅Ξû∴ιúΘ⁄ ΞϕΘÕ− ΒϕΘ 

♣ûΩχÏι ΘλûΤ ∆ΥνιƒχùΚôηΟ ≅Ξν úΞß ΥôÚΤοΩν 

≅ΞνΘôλ ⊥ôνϖ ùΣν∴ôνγ_ô− 

 

33. Βε′ßΚûΘχÏ ùΣôÚιΘΤô∴ ΘûΩκ×. 

 1. ↑ΟôØΥσ′ 

 2. ΞßûΤ 

 3. úΘôο↑ 

 4. ≅λΤô↑τ ↑ÚκΣλ 

 

 



34. ⊥ôνϖ ùΣν∴ôνγ_ô úΡôΣο Σ↔Ñ ùΣσ[ Õû[  

 1. ƒûςκΣΟλ 

 2. ùΘô→οÖγΣλ 

 3. Κ∞Θλ 

 4. ΒΩχ€Υλ 

  

35. úΡνûΤ ΘϕΘ Σ↔Ñ ΣôΟιƒο ùΞßϕùΘôγ⁄ÙΟτ ΞϕΘ  

 ùΣηûΠúΥ úΣςς′ΥôΚι úΘνÜ ùΜµÕρúΖτ Φτß Ττ∴ν  

 ≅°↑χΚ ΚôςΠλ. 

 1. úΡνûΤ 

 2. Κ⁄∴ ∆ûΨκ× 

 3. ΒςχΚλ 

 4. ≅ΨÏ 

 

36. Αß ΦτΣΘτ ΒÚùΣôÚρ 

 1. Φη+ Ξ→ 

 2. Φη+ ΑÓΘο 

 3. Φη+ ΞΠχΚλ 

 4. Φη+ ΣôÓΘο 



37. Κ↑Τ∞ úΘ′Κ ↑ΡôΥΚλ ♦ρûΖ ΒΥσ°Υ èοΚ↓ο Ιτß  

 1. Κη…ν éχΚρ 

 2. Ï♠ο ΣôγÓ 

 3. ΒÚηΟ ÅÓ 

 4. Α′Υú⊥ôƒ 

38. ΡôδΚρ  Κ↑ςôΜνΚρ  Φτß  ùΜÚχÏΟτ  á°Υ  ×ΩΞνΚ↓τ  

ùΜÚχûΚ ≅ΟχÏλΣ⁄+ Κ↑ ΦτΣΘσÏχ ÏςδÏ Φτßλ ùΣôÚρ 

úΘôτßΤôß ΣôΟûΩκ Σô⁄ΥΞν 

 1. Κ↑Νν ΣôςƒΘôΜτ 

 2. ΤΚôΚ↑ ΣôςƒΥôν 

 3. Κ↑ ΚôΖúΤΚλ 

 4. ΒςôΤ←δΚ ≅⁄ΚΖôν 

39. ΤûΩΞôûΨ ≅οΩúΞô Κο↑ , ¿  

 ΞôΥôς ∆ηÔΞôµ úΣôΦτ ×Θο↑ , Φτ[ Ξ↔Κρ 

 ΣôςƒΘôΜτ Κ↑ûΘΚ↓ο ΒιΘûΩκ♦τ•θ ∆ρΖÕ 

 1. ΦδΚρ Θ♥θ 

 2. ùΣη Κο↑ 

 3. Αη Κο↑ 

 4. ΡôγÓκΣσß 



 

40. ΚûΩΥς′ Õ∞ûΥι ûΘιΘôρ , ΒεùΜµ↑û∴ιùΘôΟûς 

ùΜΥκΣôγÓ ↑û∴ιùΘôΟςôχÏΚ . 

 1. Õ∞ ΚûΩΥς′ ûΘιΘôρ 

 2. ΚûΩΥς′ Õ∞ ûΘχΚ↑οûΩ 

 3. Õ∞ ΚûΩΥς′Υôο ûΘχΚκΣγΟÕ 

 4. Õ∞ ΚûΩΥς′ ÕûΞιΘôρ 

 

41. ∆♠νùΤµ ùΡ⁄ÛχÏ ∆↔Υ Τôιƒûς. 

 1. ≅ûς 

 2. Ιτß 

 3. Κôο 

 4. ΒςηÓ 

 

42. »»≅àΤƒ µµ Φàλ ♦[ùΤô→εùΜôοÛχÏ ♣Κςô∴ Θ♥θεùΜôο 

 1. ♣ΩÜ 

 2. ΒûΜÜ 

 3. Ø⁄Ü 

 4. ùΘôΟχΚλ 



43. Χ−ùΞ−ςô− ΦτΣΘτ ↑↔ΞôχΚλ. 

 1. ΧúςôÓ ùΞδΚΟκΣν ςôΤΜô♥ 

 2. ΧúςôÓ ùΞδΚúΟΜ ςôΤΜô♥ 

 3. ΧúςôÓ ùΞρûΖεΜô♥ ςôΤΜô♥ 

 4. ΧúςôÓ ùΞδΚΟ×ς ςôΤΜô♥ 

 

44. •ÝρΖ ùΜôσΚ↓ο ØΘùΩÝιÕΚρ ΤγÓλ ≅ûΤϕÕρΖ ùΜôο 

 1. ΑΟο 

 2. ùΚôχÏ 

 3. Εν 

 4. ΣΟλ 

 

45. ♦ρûΖιΘ♥θ ΦιΘû∴ ΣÚΞδΚûΖ ùΚôηΟÕ  

 1. ΦγÓ 

 2. ΣιÕ 

 3. ΙτΣÕ 

 4. ΓÝ 

  



 

 

46. ΒοΩôνχùΚôτ ÈÙλ ∆ûΟûΤÙλ ΒιùΘôΟν Ξ←ÙßιÕλ 

ùΣôÚρ. 

 1. ùΣôÚρΚ↓τ ♣ûΩΥôûΤ . 

 2. ΦπÜ♠ûςÙλ Õτ×ßιΘôΘ ♣ûΩ 

 3. ùΤµΚ↓ο çµûΤ ∆ûΟΥΞν 

 4. Ξ°ΥΞνχÏκ ùΣôÚûΖ ≅↓ιΘο 

 

 

 

47. »»úΣßµµ  ΦτΣΘτ ùΣôÚρ. 

 1. ùΜοΞλ 

 2. ùΣΥν 

 3. ùΣô[ôûΤ 

 4. úΣôν 

  



 

48. Κôγ′,0 

ΒΟλ 9 ∆û[ëν ≅ςηΤû∴♠τ ≅ςΜûΞ 

ΣδÏùΣßúΞôν 9 úΚôîν€Ψôν+ ùΡÓδ€ρ↓ 

ùΡÓδ€ρ↓ 9 úΜôΨΡôγ⁄τ ×ΩΞúςú[  ΞÚΚ  ΞÚΚ   

úΚôîν€Ψôν 9 ¿ ΙÚ ΚôΞΩτ ΦτΣûΘÙλ+ Τ[ϕΘû∴úΥô>  

úΤσΚôÔλ ùΜµƒ♠τ Ξ⁄Ξλ 

1. ΚγÓûς 

 2. ΡôΟΚλ 

 3. ∆ûςΥôΟο 

 4. Κ↑ûΘ 

 

49. Μφ≠↑ ΣνΞΘιƒτ Μôςο , Φàλ èûΩ ΒΥσ°ΥΞν . 

 1. Ø⁄ΥςΜτ 

 2. ΣôςƒΥôν 

 3. Θ∞ûΚ ∆ΩΚΡôΘτ 

 4. ΣôúΞϕΘν ΣôςƒΘôΜτ 

  



50. ΜôφΜôΟλΤô ΜôφΜôÓ 

 ΜôΥχ€↓úΥ ΜôφΜôÓ 

 ÏιÕ↑ΖχúΚ ΜôφΜôÓ 

 úΚô♠ο ×[ôúΞ ΜôφΜôÓ , ΒκΣôΟο ΒπΞûΚûΥε ΜôνϕΘÕ 

 1. ùΘô→ο ΣôΟο 

 2. Ξ→ΣôγÓκ ΣôΟο 

 3. ↑ûΖΥôγÓκΣôΟο 

 4. ΘôΩôγÓκΣôΟο 

51. Ρôλ ≅û∴Ξ↔ΟØλ ↑Úκ× ùΞßκ× Βτ° ΡΟϕÕùΚôρΖ 

úΞηÓλ− Βƒο ≅⁄χúΚô⁄γΟ ùΜôο ΒπΞûΚ ΒûΠεùΜôο 

 1. ≅?°ûΠ 

 2. úΡ↔ûΠ 

 3. Φƒ↔ûΠ 

 4. ùΜ°♠ûΠ 

52. »»Ιτú[ ÏΩλ ΙÚΞú∴ úΘΞτ µµ ΦτΣÕ ΒΞ↔τ áσß 

1. Κ∞Υτ éδÏτ[∴ôν 

 2. ƒÚêΩν 

 3. ƒÚΞρðΞν 

 4. ΞρΖΩôν 



 

53. Θ♥ΨΚιƒτ úΞνγυ ùΞôνι Φτ[ûΨχΚκΣÓΣΞν  

 1. Ξô∞ΘôΜτ 

 2. ΣôςƒΘôΜτ 

 3. ×ΩûΤ♦ιΘτ 

 4. ΚηΠΘôΜτ 

54. Ξôτ×Κθ ùΚôηΟ Θ♥θΡôÓ ΒιùΘôΟ↔ο ≅ûΤϕÕρΖ ≅∞ 

 1. ∆ΞûΤ ≅∞ 

 2. ΒΥο× Ρ↑σ′ ≅∞ 

 3. ΦÓιÕχΚôγÓ ∆ΞûΤΥ∞ 

 4. ∆ΥνÜ Ρ↑σ′ ≅∞ 

 

55. ΑΥιΘκ ΣÓιÕΘο+ ΣÏιΘôµΘο+ ΚΩôεΜôςκ ΣςΞο úΣôτ[ 

Ση×Κρ 

 1. ùΤô→ÙΟτ ùΘôΟν×ûΟΥûΞ 

 2. ΚΩôεΜôςιÕΟτ ùΘôΟν×ûΟΥûΞ 

 3. ΡôΚÃΚιÕΟτ ùΘôΟν×ûΟΥûΞ 

 4. ΣΨχΚδΚÞΟτ ùΘôΟν×ûΟΥûΞ 

 



56. ùΤô→Κσ♦ιΘ←τ ùΘôΟχΚε ùΜΥο 

 1. Σ⁄ιΘο 

 2. úΣÑΘο 

 3. úΚγΟο 

 4. ΦÝÕΘο 

 

57. ΞηΠκΣΟδΚρ+ Ξ↔úΚôγÓ ΣΟδΚρ+ ΚûΘκΣΟδΚρ+  

 ♥τ∴γûΟΚρ úΣôτ[ûΞ 

 1. ΣοúΡôχÏ Σ↔ΤôΠ ÕûΠχΚÚ↑Κρ 

 2. Ισû[κ Σ↔ΤôΠ ∆ΣΚςΠδΚρ 

 3. ØκΣ↔ΤôΠ ÕûΠχΚÚ↑Κρ 

 4. ΒςγûΟκ Σ↔ΤôΠ ÕûΠχΚÚ↑Κρ 

 

58. ΜØΘôΥλ ↑Úλ×λ ΚûΩιƒγΟδΚûΖ+ ΤôΠΞνΚ↓τ ΣτØΚ  

 ΞΖνε′χÏ ΣΥτΣÓιÕΞΘσΚôΚ ΙπùΞôÚ Κο↑ ♣ßΞ∴Øλ  

 ΑΥιΘκΣÓιƒχùΚôρΖ úΞη⁄Υ ƒγΟλ 

 1. ΣôΟιƒγΟλ 

 2. ΚûΩιƒγΟλ 

 3. ♣ßΞ∴ιƒγΟλ 

 4. ΑηÓ ƒγΟλ 



 

59. ΡλΤô♣Ωιƒο ùΜΥΩ⁄κΣûΟχ Κσ♦ιΘûΩ ØΘτØû[ΥôΚ  

 ΡûΟØû[κΣÓιƒΥ Τô♣Ω ≅ûΤκ× 

 1. Αϕƒςκ ♦ςúΘΜ ΑςλΣχ Κο↑ ΚûΩιƒγΟλ 

 2. ΤôΞγΟ ΑςλΣχ Κο↑ ΚûΩιƒγΟλ 

 3. ΒςôËπ Κο↑ ΒΥχΚλ 

 4. ΒûΟ♣ûΩχΚο↑ Σ♠σ′ ƒγΟλ 

 

 

60. ÏΨϕûΘΚ↓τ ΣδúΚσ×+ ÕΩδΚο+ ΦÝÕλ áßΚρ+  

 Φ↓ûΤΥô∴ úΘνÜΟτ á⁄Υ ΤƒκÀÓ 

 1. úΤσΣôνûΞ ΤƒκÀÓ 

 2. Ïû[Υ° ΤƒκÀÓ 

 3. Ε€ιΘο ΤƒκÀÓ 

 4. ØÝûΤΥô∴ ùΘôΟν ΤƒκÀÓ 

 

 

 

 

 

 



ENGLISH – PART - III  

 

61. He is not healthy. He is not wealthy 
 These two sentences can be combined as: 

1. He is neither healthy nor wealthy  

2. He is not healthy but wealthy 

3. He is both healthy and wealthy 

4. He is either healthy or wealthy 

  

62. The boy took off his clothes to change them. 
 The meaning of the phrasal verb 'took off' is: 

1. Cleaned  

2. Washed  

3. Removed  

4. Folded  

63. Choose the sentence that expresses ability 
  

1. He can carry this bag 

2. He carries bags 

3. He may carry this bag 

4. He should carry this bag 

 
64. Choose the sentence that has a noun clause 
  

1. She said that she was busy 

2. She asked him for money 

3. He helped her many times 

4. I will not go there 



65. Sindhu, who came from Guntur, won the match. 
 The part of the sentence, 'who came from Guntur' in the above 

sentence is: 
1. a finite clause  

2. a defining relative clause 

3. a non-defining relative clause 

4. a main clause 

66. He never drinks milk, …………………. 
  

1. does he ? 

2. doesn't he ? 

3. didn't he ? 

4. did he ? 

 

67. Seeing the police, the thief ran away 
 This sentence has: 

1. one main clause 

2. one relative clause 

3. one defining relative clause 

4. one non-defining relative clause 

 
68. You can sing songs. 
 Choose the correct 'Yes / No' question of the sentence above. 

1. Do you sing songs? 

2. Do you sings songs? 

3. Will you sing songs? 

4. Can you sing songs? 

 



69. He won the match ………………. his illness. 
Choose the correct compound prepositional phrase to fill in the 
blank in the sentence above.  
1. in spite of  

2. in place of 

3. ahead of 

4. by way of 

 

70. The bird ……………… out if you leave the door of the cage. 
 Choose the correct verb to fill in the blank. 

1. flies  

2. will fly 

3. fly 

4. would fly 

71. We need not sleep on the floor as there are ……………….. 
 Choose the correct phrase to fill in the blank. 

1. not beds enough  

2. not enough beds 

3. enough beds 

4. beds enough 

72. I had scarcely put the phone down when it rang again. 
 The meaning of this sentence can be expressed as: 

1. No sooner had I put the phone down than it rang again.  

2. I put the phone down after it had rung again. 

3. Before putting the phone down, it rings again. 

4. After the phone ringing again, I put it down. 

 
 



73. Choose the word that can be used to write an adverbial clause of 
condition. 

  
1. As  

2. If  

3. Since  

4. Because 

74. Choose the correct noun phrase with the correct order of adjectives. 
  

1. A beautiful green leaf  

2. A green beautiful leaf  

3. A leaf beautiful green  

4. A green leaf beautiful 

 
75. Mohan wishes he …………… a new house. 
 Choose the correct verb that fits the context 

1. has 

2. doesn't had 

3. will not had  

4. had 

 

76. Reading is a good habit. 
 In the above sentence, 'reading' is: 

1. a present participle 

2. a past participle 

3. a gerund  

4. a helping verb 

 
 



77. Madhu is a doctor and Sita, a nurse. 
 This  is: 

1. a simple sentence 

2. a compound sentence 

3. a complex sentence  

4. a compound complex sentence 

78. He is the tallest boy on ………………earth 
 Choose the article that fits the context. 

1. a 

2. an 

3. the 

4. No article is needed 

79. No other river in the world is so long as the Nile. 
 Choose the superlative degree of this sentence. 

1. The Nile is the most longest river in the World. 

2. The Nile the longest World in the rivers. 

3. The word is the longest river. 

4. The Nile is the longest river in the World. 

 
80. Choose the correct spelling of the word. 
  

1. rejuvenate  

2. ririvinate 

3. rijuvenate. 

4. rejuvinate 

 
 
 



81. When ……………… this new car? 
 Choose the correct verb and subject to complete 

1. do you buy 

2. did you bought 

3. have you bought 

4. did you buy 

 
[ 82 – 84] –  Read the following passage and choose the correct answers to  

the questions given after 

Mahatma Gandhi believed that industrialisation was no answer to the 
problems that plague the mass of India's poor and that villagers should be 
taught to be self-sufficient in food, weave their own cloth from cotton and 
eschew the glittering prizes that the 20th century so temptingly offers. Such 
an idyllic and rural paradise did not appear to those who inherited the reins 
of political power. 

 
82. Mahatma Gandhi believed that:  
  

1. Industrialisation would solve all the problems. 

2. Industrialisation was no answer to the problems faced by the 

Indians. 

3. Indians would never establish small-scale industries. 

4. Indians would have to resort to industrialisation at a later 

stage. 

 

 

 

 

 



83. The basis of 'an idyllic and rural paradise' is: 
  

1. rapid industrialisation of villages. 

2. self sufficiency in food, clothes and simplicity of the life 

style. 

3. bringing the glittering prizes to the villages. 

4. supporting holding powerful positions. 

84. Mahatma Gandhi's views opposed industrialisation of village 
because 

  
1. it would help the poor not the rice. 

2. it would take away the skill of the villager. 

3. it would affect the culture of the villages. 

4. it would destroy the skills of the villagers. 

85. A manual of instruction for any class is: 
  

1. a dictionary  

2. a textbook 

3. a question paper 

4. a lesson plan 

 
 
86. The grammar translated method dominated the field of teaching and 

learning: 
  

1. from 1840 to 1940 

2. from 1990 to 2005 

3. from 1840 to 1841 

4. from 1950 to 2000 



87. According to psycholinguists,' babbling stage is: 
  

1. 7 to 10 months 

2. 7 to 12 months 

3. 0 to 12 months 

4. 0 to 18 months 

 

88. The following is not a problem associated with learning English in 
our schools: 

  
1. Children get to listen to English only for about forty minutes 

in their English class. 

2. Many teachers use mother tongue to teach English 

3. Children get less opportunities to use English 

4. There are no qualified teachers in any school in India to teach 

English. 

 
89. Choose the false statement: 
  

1. A single sound is represented by several spellings in English. 

2. In English we have silent letters and doubling of consonants 

regarding spelling  

3. Using capital letters is  found in all South Indian Languages  

4. We cannot find 1 : 1 relation between sounds and spelling in 

English.  

 

 

 



90. The three levels of conceptualization identified by Edward Anthony 
are : 

  
1. Approach, method and technique 

2. Approach, philosophy and technique  

3. Principle, approach and method  

4. Philosophy, principle and approach 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



MATHEMATICS & EVS – PART - IV  

91. If ‘y’ be the Additive Inverse of ‘x’, then the Additive Inverse of ‘y’ 

is  

 ‘x’ Φτ[ áγΟο ΘûΩχ•θ ‘y’ Φ±ο y τ áγΟο 
ΘûΩχ•θ 

 1.    x 

2. y 

 3. - x 

 4.         0  

92. The value of 604+ 441  

604+ 441  τ Τƒκ× 

1. 21 

 2. 23 

 3. 25 

 4. 27 

93. One of the following not a Pythagorean triplet  

•θχΚôÔλΞσ°ο ♦ΘôΚςυ Ø€Κρ ≅οΩôΘÕ  

1. 3, 4, 5 

2. 6, 8, 10 

3. 8, 15, 17 

4. 10, 24, 25 

  



94. The greatest two digit prime number is  

♥ΚκùΣ↔Υ Βςη⁄ΩχΚ ΣΚô Φη 

1. 91 

2. 93 

3. 97 

4. 99 

95. Product of 25
14

 and the multiplicative inverse of 5
7

 is   

25
14  

 Τσßλ 5
7

 τ ùΣÚχΚο ΘûΩ•θ Α€ΥΞσ°τ 

ùΣÚχΚσΣΩτ 

1. 2
5

 

2. 5
2

 

3. 125
98

 

4. 98
125

 

96. Tushar drank 2
5

th part of a glass of milk contain 250 ml.  Then the 

milk left in the glass in milliletres 

Õ_ôν ΦτΣΞτ  250  ♥−←− Σôο ∆ρΖ ÏΞûΖ♠←ÚϕÕ 

 
2
5

 ΣôΚλ ΣôûΩ Ï⁄ιΘôτ Φ±ο ÏΞûΖ♠ο ÁΘλ ∆ρΖ 

Σô←τ ≅ΖÜ ∋♥−←− , ο(   
  

1. 50  

2. 100  

3. 150  

4. 200  

 



97. The fraction equal to 0.238 is  

0.238 χÏ ΜΤΤô∴ ♦τ∴λ  
 

1. 238
100

 

2. 238
500

 

3. 119
250

 

4. 119
500

 

 

98. The ratio of Prameela’s income to her savings is 4 : 1 then the 

percentage of money saved by her is  

♦ς♥Ζô ΦτΣΞ↓τ ΞÚΤô∴λ Τσßλ úΜ♥κ×Κ↓τ 
↑€Θλ   4 : 1  Φ±ο ≅Ξρ úΜ♥ιΘ ΣΠιƒτ ΜΘÅΘλ 
 

1. 20% 

2. 25% 

3. 40% 

4. 80% 

 

99. If Eswar pays an interest of  ` 2500 for 4 year on a sum of ` 5000 

then the rate of interest per annum is   

ΧυΞν ΦτΣΞτ ` 5000 ùΤôιΘιƒσÏ 4 ΞÚΟιƒσÏ ` 2500  
Η Ξγ⁄ΥôΚ ùΜÛιƒ∴ôτ Φ±ο ΞÚΟιƒσΚô∴ Ξγ⁄ÅΘλ 
 

1. 10% 

2. 12 
2
1 % 

3. 20% 

4. 25% 



100. If 5 persons can finish a work in 10 days then one person can finish 

that same work in (days) 

5 ΡΣνΚρ  úΜνϕÕ  ΙÚ  úΞûΩûΥ  0/  ΡôγΚ↓ο  
Ø⁄κΣôνΚρ  Φ±ο  ≅úΘ  úΞûΩûΥ  ΙÚ  ΡΣν  ùΜµÕ  
Ø⁄χΚ ΑÏλ ΡôγΚ↓τ Φη∞χûΚ 
  

1. 2 

2. 10 

3. 20 

4. 50 

 

101. The angles of a quadrilateral ABCD taken in an order are in the ratio 

3 : 7 : 6 : 4 then ABCD is a 

1. Kite 

2. Parallelogram 

3. Rhombus 

4. Trapezium 

ABCD Φàλ ΡôσΚςιƒτ úΚôΠδΚ↓τ ↑€Θλ Øû[úΥ 
3 : 7 : 6 : 4  Φ±ο ABCD ΡôσΚςΤô∴Õ  
 

1. ΣγΟλ 

2. ΒûΠΚςλ 

3. ΜôµΜÕςλ 

4. Μ↔ΞΚλ 

 

102. The number of diagonals in a septagon is  

ΙÚ ΦÝúΚôΠιƒο ∆ρΖ êûΩ↑γΟδΚ↓τ Φη∞χûΚ 
 

1. 42 

2. 21 

3. 14 

4. 7 



103. The English Alphabet that has both horizontal and vertical lines of 

symmetry is   

€ûΟΤγΟ Τσßλ ùΜδÏιÕ úΚôÓΚûΖ ΜΤε≠ςôΚχ 
ùΚôηΟ Αδ€Ω ΦÝιÕ 
 

1. X 

2. E 

3. M 

4. K 

 

104. The difference of two complementary angles is 30o then the angles 

are 

ΒςηÓ ♣ςκ× úΚôΠδΚ↓τ ↑ιƒΥôΜλ 30
+
 Φ±ο ≅χ 

úΚôΠ ≅ΖÜΚρ  
 

1. 20o, 50o 

2. 30o, 60o 

3. 40o, 70o  

4. 75o, 105o 

 

105. The perimeter of the rectangle whose length is 12 cm and a diagonal 

is 15 cm is  

 12 ùΜ−Á− ¿Ζλ Τσßλ 15 ùΜ−Á− êûΩ↑γΟλ ∆ûΟΥ 
ùΜπΞΚιƒτ Ñσ[ΖÜ 
 

1. 27 ùΜ−Á− 

2. 42 ùΜ−Á− 

3. 54 ùΜ−Á− 

4. 108 ùΜ−Á− 

 

 

 



 

106. Perimeters of a rectangle and squares are equal.  The length and 

breadth of rectangle are 35 cm and 25 cm, then the difference of 

their areas is  

ΙÚ ùΜπΞΚλ Τσßλ ΜÕςιƒτ Ñσ[ΖÜΚρ ΜΤλ− úΤÛλ 
ùΜπΞΚιƒτ ¿Ζλ Τσßλ ≅ΚΩλ Øû[úΥ 35 ùΜ−Á− 

Τσßλ 25 ùΜ−Á− Φ±ο ≅πΞ⁄ΞδΚ↓τ ΣςκΣΖÜΚ↓τ 
↑ιƒΥôΜλ 

1. 10 ùΜ−Á−1 

2. 25 ùΜ−Á−1 

3. 35 ùΜ−Á−1 

4. 60 ùΜ−Á−1 

 

107. The Area of Rhombus is 216 cm2 and one of its diagonal is 24 cm 

then the other diagonal is in cm 

ΙÚ ΜôµΜÕςιƒτ ΣςκΣΖÜ  216 ùΜ−Á−1  úΤÛλ ≅Θτ 

êûΩ↑γΟ ≅ΖÜ 24 ùΜ−Á− Φ±ο Τσù[ôÚ êûΩ↑γΟ 
≅ΖÜ ∋ ùΜ−Á− ο ( 
 

1. 9  

2. 12  

3. 18 

4. 36  

 

108. The median of the data 40, 50, 99, 68, 98, 60, 94 is  

40, 50, 99, 68, 98, 60, 94 Φàλ ↑ΞςδΚ↓τ ΒûΟ♣ûΩ  
 

1. 99 

2. 68 

3. 60 

4. 40 



 

109. The difference between the highest and the lowest values in a data is   

1. frequency 

2. class interval 

3. range 

4. mode 

ΙÚ ↑Ξςιƒτ ≅ƒΚΣγΜ Τσßλ Ïû[ϕΘΣγΜ Τƒκ×Κ↓τ 
↑ιƒΥôΜλ 
 

1. ♣ΚθùΞη 

2. ΞÏκ× ΒûΟùΞ↓ 

3. ÅεÑ 

4. ØΚÓ 

 

 

110. The mean of three different natural numbers is 40.  Among the three 

numbers, the lowest is 19. Then the highest possible number of 

remaining two numbers  is 

êτß ùΞπúΞß ΒΥο ΦηΚ↓τ ΜςôΜ↔ 40.  ≅λ êτß 

ΦηΚ↓ο ′°ΥΦη 19 Φ±ο ÁΘØρΖ ΒςηÓ ΦηΚ↓ο 
ΜôιƒΥΤô∴ ♥ΚκùΣ↔Υ Φη 
 

 

1. 40 

2. 71 

3. 81 

4. 91 

 

 

 

 

 



 

 

111. A graph showing two sets of data simultaneously is known as   

1. pictograph 

2. histogram 

3. pie-chart 

4. double bar graph 

ΒςηÓ ÏÝχΚ↓τ ↑ΞςδΚûΖ ùΘôΟνε′ΥôΚ ∋≅ÚΚÚúΚ( 
Ï°ιÕΚôγÓλ ΞûςΣΟλ 

 

1. ΣΟ↑ΖχΚ ΞûςΣΟλ 

2. ùΜπΞΚ ΞûςΣΟλ 

3. ΞγΟ ΞûςΣΟλ 

4. ΒςηÓ Κλ♦ ΞûςΣΟλ 

 

 

112. If , 5 2  4 = 
3 5
x x- , then the value of 2x – 7 is  

5 2  4 = 
3 5
x x-   Φ±ο 2x – 7  τ Τƒκ× 

1. 19
13

 

2. 13
19
-  

3. 0 

4. 13
19

 

 

 

 

 

 



 

 

113. 
3 32 5

3 7
æ ö æ ö´ç ÷ ç ÷
è ø è ø

is equal to   

3 32 5
3 7

æ ö æ ö´ç ÷ ç ÷
è ø è ø

  χÏ ΜΤΤô∴Õ 

1. 
92 5

3 7
æ ö´ç ÷
è ø

 

2. 
62 5

3 7
æ ö´ç ÷
è ø

 

3. 
32 5

3 7
æ ö´ç ÷
è ø

 

4. 
02 5

3 7
æ ö´ç ÷
è ø

 

 

114. If 5 × A = CA  then the values of A and C are  

5 × A = CA  Φ±ο A Τσßλ C τ Τƒκ×Κρ 

1. A = 5,  C = 1 

2. A = 4,  C = 2 

3. A = 2,  C = 5 

4. A = 5,  C = 2 

 

 

 

 

 

 

 



 

 

115. One of the following is not an item in OBB Maths kit  

1. Domino cards 

2. Napier strips 

3. Geo-board 

4. Fractional Disc 

ΚÚλΣΩûΚ ƒγΟιƒτ •θ ΞΨδΚκΣγΟ Κ∞Θ ùΣγ⁄♠ο 
ΒοΩôΘ ùΣôÚρ  

1. Οô♥ú∴ô ≅γûΟΚρ 

2. úΡκ♦Υν ΣγûΟΚρ 

3. ≥úΥô úΣôνÓ 

4. ♦τ∴ ΞγÓχΚρ 

 

116. A specification of ‘understanding’ 

1. Recalls 

2. Illustrates 

3. Selects appropriate tool 

4. Analyses 

•θΚηΟΞσ°ο ×↔ϕÕχùΚôρÞΘÛΟτ ùΘôΟν×ûΟΥ 
≅λΜλ  

1. ♣û∴Ü áνΘο 

2. ∆ΘôςΠδΚûΖ ΞΨδÏΘο 

3. Μ↔Υô∴ ∆ΣΚςΠιûΘ úΘνÜ ùΜµΘο  

4. ΣÏιΘôςôµΘο 

 

 

 

 



 

117. “Mathematics is the science of numbers, quantities, measurements” 

defined by 

1. Euclid 

2. Maria Piary 

3. Benjamine Pearce 

4. Bell 

»» Κ∞Θλ ΦτΣÕ ΦηΚρ+ ≅ΖÜΚρ+ ≅ΖÅÓΚρ 

Α€ΥΞσ°τ ≅°↑Υο ΑÏλ µµ  Φτß á°ΥΞν 

1. ëχ↓γ  

2. Τ↔Υô ♦Υ↔ 

3. ùΣφΜ♥τ ♦Υνυ 

4. ùΣο 

118. One of the following is not a principle of Activity method of 

teaching 

1. Providing learning activities developed by the teacher. 

2. Developing learning through activities, discoveries and 

experiments. 

3. Developing individual, group, whole class work  

4. Encouraging intelligent students only to do the activities 

•θχΚôηΣΞσ°ο+ ùΜΥσΣôγÓ Øû[♠ο Κσ♦ιΘ←τ ↑ƒ 
≅οΩôΘÕ+   
 

1. Α′↔Υν Ξ⁄ΞûΤιΘ Κσ[ο ùΜΥσΣôÓΚûΖ 
ΞΨδÏΘο  

2.     ùΜΥσΣôÓΚρ+ ΚηÓ♦⁄κ×Κρ Τσßλ Σ↔úΜôΘû∴Κρ    
Ξô♠ΩôΚ Κσ[ûΩ úΤλΣÓιÕΘο   

3. Θ±Υôρ+ ÏÝ+ ΞÏκ× ùΤôιΘ ùΜΥσΣôÓΚûΖ 
úΤλΣÓιÕΘο   

4. ÖηΠ°Ü♥χΚ ΤôΠΞνΚûΖ ΤγÓλ ùΜΥοΚûΖ 
ùΜµΥ ΕχÏ↑ιΘο 



 

119.  Advantage of “Alternative response questions”   

1. No freedom in writing the answers 

2. Much apporyunity for guessing the answer 

3. Useful to test the objective “knowledge” only 

4. Possess more objectivity 

“ Τôσß Σƒο” ↑∴ô ΞûΚ♠τ  ♣û[ 

1. ↑ûΟ ΦÝΘ←ο ÑΘϕƒς♥οûΩ 

2. ↑ûΟûΥ Ε€χΚ ≅ƒΚ Ξôµκ× 

3. ≅°ûΞ úΜôƒκΣΘσχÏ Γσ[ úΜôΘû∴ Øû[ 

4. ≅ƒΚ ×[ΞΥιΘτûΤχ ùΚôηΟÕ 

120. The item to which  maximum points are allotted in Hunters score 

card is  

1. Literary style 

2. Psychological principle 

3. Exercises given in the text book 

4. Physical form of the text book 

ηΟνυ ×ρ↓ ≅γûΟΚ↓ο Τσ[ ≅λΜδΚûΖ ↑Ο 

≅ƒΚ ×ρ↓Κρ ΞΨδΚκΣγΟ ≅λΜλ  

1. ùΤô→ ΡûΟ 

2. ∆Ζ↑Υο ãιƒςδΚρ  

3. ΣôΟκ×ιΘΚιƒο ùΚôÓχΚκΣγÓρΖ Σ♠σ′χÏ 

4. ×ιΘΚιƒτ Ξ⁄ΞûΤκ♦σÏ 

 

  



 

 

121. The release of water in the form of vapour from plant leaves is called 
1. Respiration  

2. Photosynthesis 

3. Excretion  

4. Transpiration  

 ΘôΞς ΒûΩ♠←ÚϕÕ ¿ν+ ¿ςô↑ΥôΚ ùΞ↓úΥßΘûΩ ΒπΞôß 
≅ûΨκΣν 

 1. ÑΞô′ιΘο 

 2. Ι↓εúΜνχûΚ 

 3. Κ→Ü ¿χΚλ 

 4. ¿ςô↑ úΣôχÏ 

 
122. In human body 'Hinge joint' is present at  

1. Knee, neck 

2. Neck, elbow 

3. Elbow, knee 

4. Neck, shoulder 

 Τ±Θ ∆Ο←ο •ο êγÓ ΚôΠκΣÓλ ΣÏƒΚρ  

 1. ØÝδΚôο+ ΚÝιÕ 

 2. ΚÝιÕ+ ØÝδûΚ 

 3. ØΨδûΚ+ ØΨδΚôο 

 4. ΚÝιÕ+ úΘôρΣγûΟ 

  



123. Karanam Malleswari won the Olympic medal in this event 
1. Tennis 

2. Weight lifting 

3. Shooting  

4. Boxing  

 ΚςΠλ ΤοÄυΞ↔ Ι←λ♦χ ΣΘχΚλ ùΞτ[ ↑ûΖΥôγÓ  

 1. ùΟτ±υ 

 2. ΣÞçχÏΘο 

 3. ÕκΣôχ€ ÑÓΘο 

 4. ÏιÕεΜηûΟ 

 
124. Instrument used to measure the wind speed is  

1. Barometer  

2. Anemometer  

3. Hygrometer  

4. Lactometer  

 Κôσ°τ úΞΚιûΘ ΚηΟ°Υ ∆ΘÜλ ΚÚ↑  

 1. ΣôςΤô± 

 2. ≅±úΤôÁγΟν 

 3. ûχúςô ÁγΟν 

 4. úΩχúΟô ÁγΟν 

 
  



125. Sir Thomas Alwa Edison did not use this as a filament in his electric 
bulb 
1. Platinum wire 

2. Bamboo wire  

3. Tungsten wire 

4. Cotton thread coated with soot  

 Μν−  ΘôΤυ  ΑοΞô  Φ⁄Μτ  ΘτàûΟΥ  ♥τΜôς  Σο♦τ  ♥τ  
∆Úχ€ΥôΚ ΒûΘ ΣΥτΣÓιΘ↑οûΩ  

 1. ♦Ζôγ⁄∴λ Κλ♦ 

 2. êδ€ο Κλ♦ 

 3. ΟδυΟτ Κλ♦ 

 4. Κ↔ éΜκΣγΟ ΣÚιƒ Κ♠ß 

 
 
126. After the removal of sludge and floating material like oil and grease, 

the waste water becomes…. 
1. Clarified water 

2. Potable water 

3. Ground water 

4. Mineral water 

 Κ→Ü ¿↔←ÚϕÕ ΦηûΠ Τσßλ €Ãυ+ ♥ΘχÏλ Κ→Üκ 
ùΣôÚγΚûΖ ¿χ€Υκ♦[Ï ≅ûΘ ΒπΞôß ≅ûΨκΣν 

 1. ùΘ↓ϕΘ ¿ν 

 2. Ï⁄ ¿ν 

 3. ♣ΩιΘ⁄ ¿ν 

 4. ♥∴ςο ¿ν 

  



127. In human eye the yellow spot is the area of ……. 
1. Low vision 

2. Blurred vision  

3. No vision 

4. Best vision 

 Τ±Θ Κη∞ο ΤφΜρ ×ρ↓ 

 1. Ïû[ϕΘ ΣôνûΞκ ΣÏƒ 

 2. ùΘ↓Ξσ[ ΣôνûΞκ ΣÏƒ 

 3. ΣôνûΞ ≅σ[ ΣÏƒ 

 4. ′[κΣô∴ ΣôνûΞ ΣÏƒ 

128. Dams built on the river Godavari are 
 A) Sri Ram Sagar  B) Dhavaleshwaram 
 B) Srisailam    D) Jayakawadi 

1. A and B 

2. A, B and C 

3. B, C and D 

4. A, B and D 

 úΚôΘôΞ↔ Ρƒ♠τ ÁÕ ΚγΟκΣγΟ ≅ûΠΚρ   

 A) βςôλ ΜôΚν  B) ΘΞúΩυΞςλ 

 B) β ûΜΩλ  D) ⊥ΥΚΞô⁄ 

 1. A Τσßλ B  

 2. A, B Τσßλ C 

 3. B, C Τσßλ D 

 4. A, B Τσßλ D 

 



129. Geographically our country is divided into six physical regions. 
According to this Southern Indian states are 
1. Andhra Pradesh, Telangana, Tamilnadu, Maharastra, Kerala 

2. Andhra Pradesh, Telangana, Tamilnadu, Karnataka, Kerala 

3. Andhra Pradesh, Telangana, Tamilnadu, Odissa, Kerala 

4. Andhra Pradesh, Telangana, Karnataka, Tamilnadu, Odissa 

 ×↑♠Υο ÃƒΥôΚ Ρλ ΡôÓ Αß ×↑Υο ΣÏƒΚΖôΚ 
♦↔χΚκΣγÓρΖÕ− ΒûΘκùΣôÚιÕ ùΘτ ΒϕƒΥ Τô♣ΩδΚρ 
Φ∴κΣÓΣûΞ 

 1. Αϕƒςκ ♦ςúΘΜλ+ ùΘΩδΚô∴ô+ Θ♥θΡôÓ+ 

ΤΚôςôυ⁄ςô+ úΚςΖô  

 2. Αϕƒςκ ♦ςúΘΜλ+ ùΘΩδΚô∴ô+ Θ♥θΡôÓ+ 

ΚνΡôΟΚô+ úΚςΖô  

 3. Αϕƒςκ ♦ςúΘΜλ+ ùΘΩδΚô∴ô+ Θ♥θΡôÓ+ 

Ι⁄Μô+ úΚςΖô  

 4. Αϕƒςκ ♦ςúΘΜλ+ ùΘΩδΚô∴ô+ Θ♥θΡôÓ+ 

ΚνΡôΟΚô+ Ι⁄Μô  

 
130. One of the following is not a variety of Paddy 

1. Hamsa 

2. Swarna 

3. Asha 

4. Masoori  

 •θΚηΟΞσ°ο Ιτß ùΡσΣ♠ν ΞûΚ ≅οΩ 

 1. λΜô 

 2. ÑΞν∴ô 

 3. Α_ô 

 4. Τã↔ 

 
  



131. Father of white revolution in India 
1. J.K. Korian 

2. M.S. Swaminathan 

3. J.C. Bose 

4. Ronald Ross 

 ΒϕƒΥô↑τ ùΞηûΤ ×ςγ′♠τ ΘϕûΘ Φ∴κΣÓΣΞν 

 1. ú⊥−úΚ− Ï↔Υτ 

 2. Φλ−Φυ− ÑΞô♥ΡôΘτ 

 3. ú⊥−′− úΣôυ 

 4. ùςô∴ôογ úςôυ 

 
132. The tribes live in the forests of Srikakulam, Vijayanagaram and 

Visakhapatnam are 
1. Koya, Savara 

2. Savara, Kuvi 

3. Kuvi, Koya 

4. Gadaba, Koya 

 ↑ΜôΚκΣγ⁄∴λ+ ↑⊥ΥΡΚςλ Τσßλ βΚôÏΖλ ΤôΞγΟ ΚôγÓ 
ΣÏƒΚ↓ο Ξ′χÏλ ΚôγÓΞô′Κ↓τ ΞûΚ 

 1. úΚôΥ+ ΜΞς 

 2. ΜΞς+ Ï↑ 

 3. Ï↑+ úΚôΥ 

 4. ΚΟΣ+ úΚôΥ 

 

 

 



133. Incorrect statement regarding 'Saving fuels' is 
1. Walk short distance on foot 

2. Use bicycles instead of cars, motor cycles and scooters 

3. Food material is to be cooked for a longer period 

4. Utilize day light instead of electric lamps 

 »Φ↔ùΣôÚρ úΜ♥κ×µ ùΘôΟνΣô∴ ΘΞ[ô∴ áσß 

 1. Ïû[ϕΘ ùΘôûΩÜΚÞχÏ ΡΟϕÕ ùΜοÛΘο 

 2. ΚôνΚρ+ úΤôγΟôν ΞôΚ∴δΚρ Τσßλ υáγΟνΚÞχÏ  

  ΣƒΩôΚ ♥ƒΞη⁄ ΣΥτΣÓιÕΘο 

 3. ∆ΠÜ ùΣôÚγΚûΖ ùΡÓúΡςλ ΜûΤιΘο 

 4. ΣΚσùΣôÝƒο ♥τΜôς ↑ΖχÏΚÞχÏ ΣƒΩôΚ  

ã↔Υ ùΞ↓εΜιûΘ ΣΥτΣÓιÕΘο− 

 
134. Part of the flower that converts into fruit after fertilization is  

1. Ovary  

2. Pollen grain  

3. Style  

4. Anther  

 ΚÚÜÚΘÛχÏ ♦[Ï ΣΨΤôΚ Τôσ[ΤûΟÙλ é↑τ ΣôΚλ 

 1. ãσûΣ 

 2. ΤΚςϕΘ ÕΚρ 

 3. ãο ΘηÓ 

 4. ΤΚςϕΘκ ûΣ 

  



135. Identify a homogeneous mixture 
1. Air 

2. Milk 

3. Cheese 

4. Shoe polish 

 •θχΚηΟΞσ°ο ΙÚΣ⁄ιΘô∴ ΚΩûΞûΥ ΚηΟ° 

 1. Κôσß 

 2. Σôο 

 3. ùΞηûΠ 

 4. _ø Σô←ω 

136. Ramesh lives in Tirupathi with his mother, father, sister, uncle, aunt, 
grandmother and grandfather. This type of family is 
1. Nuclear family 

2. Modern family 

3. Smart family 

4. Joint family 

 ςúΤω ΦτΣΞν ƒÚκΣƒ♠ο ≅Ξ↔τ ≅λΤô+ ≅κΣô+ ΘδûΚ+ 
ΤôΤô+ ≅ιûΘ+ ΘôιΘô Τσßλ Σôγ⁄ÙΟτ Ξ′ιÕ ΞÚ€[ôν+ 
Φ±ο ≅Ξ↔τ ÏÓλΣλ 

 1. Θ± ÏÓλΣλ 

 2. ΡÅ∴ ÏÓλΣλ 

 3. ΡοΩ ÏÓλΣλ 

 4. áγÓ ÏÓλΣλ 
  



137. Chirala - Perala Movement was led by  

1. Mutnuri Krishna Rao 

2. Chilakam Ramachandra Reddy 

3. Duggirala Gopala Krishnaiah 

4. Bhogaraju Pattabhi Sitaramaiah 

 ≠ςôΩô , úΣςôΩô ΒΥχΚιûΘ ΘûΩûΤúΥσß ΡΟιƒΥΞν 

 1. Øγò↔ €ÚωΠô ςôπ 

 2. ′ΩΚλ ΒςôΤΜϕƒςô ùςγ⁄ 

 3. Õχ€ςôΩô úΚôΣôΩ €ÚωΠµΥô 

 4. úΣôΚςô⊥ø ΣγΟô♦ ≠ΘôςôΤµΥô 

 

138. The RTE Act came into force from  

1. 2010, April 2 

2. 2012, April 1 

3. 2012, March 1 

4. 2010, April 1 

 Κο↑  ∆↔ûΤε  ΜγΟλ  ∋RTE Act( ΡûΟØû[χÏ ùΚôηÓΞϕΘ 
Ρôρ 

 1. 2010,  Γκςο 2 

 2. 2012,  Γκςο 1 

 3. 2012,  Τôνε 1 

 4. 2010,  Γκςο 1 

 

 

 

 



139. These were called as ‘Nayankaras’ in Kakatiya’s period 

1. big tanks 

2. villages which have right to collect tax 

3. temples 

4. samantharajas 

ΚôΚΥνΚρ ΚôΩιƒο ΡôΥδΚςνΚρ Φ∴ ≅ûΨχΚκΣγΟûΞ  

 1. ùΣ↔Υ Γ↔Κρ 

 2. Ξ↔ Ξã←χÏλ ∆↔ûΤκ ùΣσ[ €ςôΤδΚρ 

 3. úΚô♠οΚρ 

 4. ′σ[ςΜνΚρ 

 

140. The place where ‘Sufi’ gurus conduct meetings  

1. Tareeka 

2. Silsila 

3. Khankhah 

4. Rakhs 

 ã♦ ÏÚχΚρ áγΟδΚûΖ áγ⁄Υ ΒΟλ  

 1. ΘôÃΚô 

 2. ′ο′Ωô 

 3. ΚτΚô 

 4. ςχυ 

 

 

 

 



 

141.  The constitution for India in 1928 was prepared by 

1. Dada bhai Nauroji 

2. Motilal Nehru 

3. Satyendranath Tagore 

4. Ros Bihari Bose 

 ΒϕƒΥô↑σΚôΚ 0817ο ≅ς′Υο ≅ûΤκ×ε ΜγΟιûΘ 
ΘΥô↔ιΘΞν 

 1. ΘôΘô Σôµ ùΡΖςô≥ 

 2. úΤôƒΩôο úΡÚ 

 3. ΜιúΥϕƒςΡôι Θôáν 

 4. ςôυ ♦Κô↔ úΣôυ 

 

142. “I shall strive for a constitution which will release India from all 

thraldom and patronage…..” who said these words 

1. Dr. B.R. Ambedkar 

2. Dr. Babu Rajendra Prasad 

3. Mahatma Gandhi 

4. Hrudayanath Khunjru 

 »»ΒϕƒΥôûΞ ≅û∴ιÕ ΞûΚΥô∴ ≅⁄ûΤιΘ∴ιƒ←ÚϕÕλ+ 
ΙÚ  ♦↔↑∴ûς  ΤγÓλ  ΑΘ↔κΣƒ←ÚϕÕλ  ↑Ó↑χΚε  ùΜµÙλ  
≅ς′Υο ≅ûΤκ♦σΚôΚ Ρôτ ΣôÓΣÓúΞτµµ Φτß á°ΥΞν  

 1. ΟôχΟν− ♦−Αν− ≅λúΣιΚν 

 2. ΟôχΟν− Σô× Βςôú⊥ϕƒς ♦ςΜôι 

 3. ΤΚôιΤô Κôϕƒ 

 4. ∝ÚΘΥΡôι ÏφεÚ 



 

 

143. Cannons and guns were introduced in Indian warfare by  

1. Jahangeer 

2. Akbar 

3. Humayun 

4. Babar 

 ΒϕƒΥô↑ο úΣô↔τúΣôÕ Àςδ€ΚûΖκ ΣΥτΣÓιÕλ ∆ιƒûΥ 
≅°ØΚκΣÓιƒΥΞν 

 1. ⊥ôδ•ν 

 2. ≅χΣν 

 3. øΤôëτ 

 4. ΣôΣν 

 

144.  ‘Warm ocean currents’ means 

1. flow of water currents in winter 

2. flow of water currents in summer 

3. flow of water currents in rainy season 

4. flow of water currents throughout year 

 »ùΞκΣ ¿úςôγΟδΚρµ  ΦτΣΘτ ùΣôÚρ  

 1. Ï↓νΚôΩ ¿úςôγΟδΚρ   

 2. úΚôûΟΚôΩ ¿úςôγΟδΚρ 

 3. ΤûΨχΚôΩ ¿úςôγΟδΚρ 

 4. ΑηÓ ØÝΞÕΤô∴ ¿úςôγΟδΚρ 

 

  



145. "Science and Social Studies should be integrated as environmental 
studies". This statement is give by 
1. National Curriculum Framework 2005 

2. Eswaribhai Patel Committee 

3. Kothari Commission 1964 - 66 

4. National Educational Policy - 1986 

 !≅°↑Υο  Τσßλ  ΜêΚ  ≅°↑ΥûΩ  ΒûΠιÕ  
Ñσßκ×[εãΨο ≅°↑Υο& Φ∴ ΚσΚ úΞηÓλ Φτß á°ΥÕ 

 1. úΘ′Υ ΚûΩιƒγΟ Ξ⁄ΞûΤκ× , 1//4 

 2. ΧυΞ↔Σôµ ΣγúΟο ÏÝ 

 3. ùΚôιΘô↔ ÏÝ , 0853,55 

 4. 0875 úΘ′Υ Κο↑ Øû[ 

 
146. 'If the child interprets the reasons for the formation of Solar Eclipse',  

this relates to the objective 
1. Interest 

2. Attitude  

3. Understanding  

4. Application  

 !ΤôΠΞν ã↔Υ€ςΚΠλ úΘôτßΞΘσΚô∴ ΚôςΠδΚρ Σσ° 

↑ΖχÏ€[ôν&− ΒÕ ΒϕΘ Ση♦σÏ ùΘôΟν×ûΟΥÕ 

 1. ↑ÚκΣλ 

 2. Τ∴κΣôτûΤ 

 3. ×↔ϕÕùΚôρÞΘο 

 4. ΣΥτΣôÓ 

 

 



147. This Environmental studies lesson of class–V is a good example that 
indicates relationship between science and social studies. 
1. Our constitution 

2. Forests - Tribes 

3. Child Rights 

4. Energy 

 4,Αλ  ΞÏκ♦σΚô∴  Ñσßκ×[  ≅°↑Υ←ο  ∆ρΖ  ΒϕΘκ  
ΣôΟλ  ≅°↑Υο  Τσßλ  ΜêΚ  ≅°↑ΥÛχÏ  ΒûΟúΥ  ùΘôΟν×  
∆ρΖÕ ΦτΣΘσΚô∴ ΙÚ ′[ϕΘ ∆ΘôςΠΤôÏλ 

 1. Ρλ ≅ς′ΥΩûΤκ× 

 2. ΚôÓΚρ ,  ΚôγÓΞô′Κρ 

 3. ÏΨϕûΘ ∆↔ûΤΚρ 

 4. Ασ[ο  

 
148. The principle of curriculum construction that keeps the pupil in the 

place of a discoverer is 
1. Principle of community centeredness  

2. Forward looking principle 

3. Creative principle 

4. Conservative principle 

 ΤôΠΞûς Σ↔úΜôΘû∴ΥôΖςôΚ Τôσ[χá⁄Υ ΣôΟιƒγΟ 
úΚôγΣôÓ 

 1. ΜØΘôΥ ûΤΥχ úΚôγΣôÓ 

 2. Øτú∴ôχÏ úΚôγΣôÓ 

 3. ΑχΚ ↑û∴ úΚôγΣôÓ 

 4. Τô[ô.ΣΨûΤΥô∴ úΚôγΣôÓ 

 



149. 'Change of seasons' can best be explained through this type of   
films. 
1. Revision films 

2. School made films 

3. Process films 

4. Industrial films 

 »ΣÚΞΚôΩ Τôσ[δΚûΖµ ↑Ξ↔χÏλ ′[ϕΘ ƒûςκΣΟ ΞûΚ 

 1. ÁρΣôνûΞ ƒûςκΣΟδΚρ 

 2. Κο↑χáΟδΚρ ΘΥô↔χÏλ ƒûςκΣΟδΚρ 

 3. ùΜΥοØû[ ƒûςκΣΟδΚρ 

 4. ùΘô→ΩΚ ƒûςκΣΟδΚρ 

 
150. As per NCF-2005 the prime purpose of continuous comprehensive 

evaluation is. 
1. to overcome anxiety and competitiveness of examinations.  

2. to upscale overall functioning of department of examinations. 

3. to improve the standards of teaching learning. 

4. to raise the standards of examinations. 

 NCF-2005 ∋úΘ′Υ ΚûΩιƒγΟ Ξ⁄ΞûΤκ×,1//4(τ Σ⁄ 
♣ûΩΥô∴ ùΘôΟν ΤƒκÀγ⁄τ Øχ€Υ úΡôχΚλ 

 1. úΘνÜΚρ Σσ°Υ ΣΘσ[λ Τσßλ úΣôγ⁄ûΥ ΘÓχΚ  

 2. úΘνÜιÕû[♠τ ùΜΥοΣôγûΟ ØÝûΤΥôΚ úΤλΣÓιΘ  

 3. Κσ[ο Κσ♦ιΘο ♣ûΩΚûΖ úΤλΣÓιΘ 

 4. úΘνÜΚ↓τ ΘςιûΘ ≅ƒΚ↔χΚ 


